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PART - A
Answer ALL questions. (10X 2=20)
1. Form aquadratic equation, given that —2 + +/—7 isaroot.
2. Solvethe equation x3 + 6x + 20 = 0, oneroot being 1 + 3i.
3. Find the number of real roots of the equation x* + 18x — 6 = 0.
4. Find theinterval in which aroot of the equation x3 — 2x? —3x — 4 = 0 lies.

5. State Cayley Hemilton theorem.

et+e ! )

. e-eg
6. Find > and o

) - . . 8 —4
7. Find the characteristic equation of the matrix (2 ) )

8. Define similar matrices.
9. Find the number of integersless that and primeto 720.

10. Use Binomial theorem to find the seventh power of 11.

PART - B

Answe any FIVE questions: (5 X8=40)
11. Find ﬁ + ﬁ + ;15 , Where a, B,y are the raots of the equation
x3+2x2-3x—-1=0

12. Diminish the roots of the equation x* — x® — 10x? + 4x + 24 = 0 by 2 and write the transformed
equation.

13. State and prove Fermat’s theorem.

2:5 2:5'8
6:12 6-12-18

14. Find the sum to infinity of the series 1 + % + 4o

- B2 49413
15. Find the sumto infinity the series 1 + 1:72 + 1+‘:'£ 1“:;2“




2 -1 1
16. Find the characteristic equation of thematrix A = |—1 2 —1/| and hencefind itsinverse.
1 -1 2
8 -6 2
17. Verify Cayley Hamilton theorem for the matrix = [-6 7 —4]|.
2 -4 3
18. Show that 132™*1 + 92n*1 jsdivisible by 22.
PART-C
Answer Any TWO Questions. (2 X 20 = 40)

19. a) Solvethe equation 81x> — 18x% — 36x + 8 = 0 whose roots are in harmonic progression

b) Solve the equation 6x° —x* —43x3 +43x?+x—6=10 (8 +12)

20. a) Calculate the root of the equation x* — 3x + 1 = 0 to two places of decimal which lies between 1 and 2

by using Horner’s method.

b) Solve the equation x> —6x — 9 = 0 using Cardon’s method.

(10 + 10)
21. a). Show that logv/12 = 1 + (% +%)% + G +§)£;+ (%+§)£;+
b). State Wilson’s theorem and prove that  (18)! + 1 isdivisible by 437.
(10 + 10)
2 =2 3
22. Diagonalizethematrix A=1|1 1 1 (20)
1 3 -1
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